o(d dxy) (cm)

Ratig:

0.9k

o(d o) (rad)

Cl
a1 C
TT g ===

0.95F--the oo p

.........................................................................

........................................................................

'_\
—_— ]

Lo

S —
Amn

—

—
_¢,l—
———
poiess

o(d dz) (cm)

—=— DQM_CKF_softQCD
—e— DQM_mkFit_SoftQCD-updated

—— DQM_mkFit_SoftQCD-updated-newPLDNN
—— DQM_mkFit_SoftQCD-updated-TTharDNN

..........................................................................

0 1 2 3
TP ® (PCA to beamline)

o p_/p.)

........................................................................

0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


